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一. 填充題 (每題 ０ 分) 
 1、若 , ，則133 =x 2713 =y =⋅ yx ______。 
答案：3 
解析：   ∴   ∴xy = 3 2713)3( == yyx 273 =xy

 2、設 ，則3632 == yx =+
yx
22  ______。 

答案：1 

解析：   ∴3632 == yx x
2

62 = , y
2

63 =   ∴ 6326
22

=×=
+
yx    故 122

=+
yx

 

 3、 ∈yx  , Z, ，則 (1) ______ , (2)5432 =⋅ yx =⋅ +− 11 32 yx =−

+

1

1

3
2
y

x

______。 

答案：(1) 81 (2)
9
4  

解析：(1)∵ ∈yx  , Z,   ∴=× yx 32 31 32 × 1=x , 3=y    ∴  =× +− 11 32 yx 8134 =

   (2)
9
4

3
2

2

2

=  

 4、設 ，若0>x kxxxx =⋅⋅
3

5
7

5
7
3

7
3
5

，則 =k ______。 

答案：
105
83  

解析： 105
83

15
7

35
3

21
5

3
1

5
7

5
1

7
3

7
1

3
5

)()()( xxxxx ==⋅⋅
++

 

 5、化簡 k39
3
1

9
4192 6

3
3 =+

−
+ ，則 =k ______。 

答案：
3
4  

解析： 3
4

3
1

3
1

3
1

3
1

3
1

3
2

3 3 3333
3
13

3
4343

3
1

3

443 =×=×+×−×=⋅+
−

+×   ∴
3
4

=k  

 6、設  , 0>a [ ] ka
aa
aa

=
⋅ −

3

4223

)(
)(

，則 =k ______。 

答案：
2

17
−  

解析： 2
17

32
3

41

)(

][ −−

= a
a

a   ∴
2

17
−=k  

 7、化簡(1) =2.0)
32
1( ______ , (2) ______ 。 =1.0)243(

答案：(1)
2
1

 (2) 3  
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解析：(1)
2
12)2()

32
1( 12.052.0 === −−    (2) 33)3()243( 2

1
1.051.0 ===  

 8、若 ，則22 =xe =
+
+ −

xx

xx

ee
ee

3

3 ______。 

答案：
6
7  

解析： =
+
+ −

xx

xx

ee
ee

3

3
=

+
+

xx

x

ee
e

24

2 13
6
7  

9、化簡(1) =4 93 5 )( a ______ , (2) =⋅ 3 3432 baba ______。 

答案：(1) 4 33 aa  (2) 4
5

6
7

ba ⋅  

解析：(1) 4 334
15

4 93
5

4 93 5 )()( aaaaa ===  

   (2) 4
5

6
7

2
1

2
5

3
7

3
4

2
3

3 3432 )( bababaabbaba ⋅==⋅⋅=⋅  

10、設 ，(1)若0>x kx
x
x

=3

5

，則 ______。(2)若=k x
x
x

x
x

x
x

=⋅⋅ 5
2

3
3

5

2

3

5

，則 ______。 =

答案：(1)1 (2)
5
1  

解析：(1) xx
x
x

== 2
3

5

  ∴  1=k

   (2) ( ) ( ) 5
1

5
1

3
1

35
2

3
3

5

2

3

5

xxxx
x
x

x
x

x
x

=⋅⋅=⋅⋅ −   ∴
5
1

=  

11、 k5])125()
25
1[(55 32283 18 =××× − ，則 =k ______。 

答案：2 
解析：原式 ，∴236426 5)55(55 =×××= −− 2=k  

12、設13 , ，則(1)8=x 1652 =y =x
3

2 ______ , (2) =−
yx
86 ______。 

答案：(1) 13 (2) −4 

解析：(1)13   ∴32=x 132
3

=x  

   (2)   ∴1652 =y 522
4

=y   ∴
4
12

43

=
−
yx    ∴ 243

−=−
yx

  ∴ 486
−=−

yx
 

13、設 ，則 ______。 k2)2(2 2332

=÷ =k
答案：3 
解析：   ∴=÷ 233 )2(2

2

=÷ 69 22 32 3=k  

14、(1)化簡 =
−

3
2

4
1

])
64
27[( ______。(2)求 5.24

1
3
1

)25.0()
16
1()

27
8( −−

⋅⋅  之值 =______。 

答案：(1)
3

32
 (2) 24 
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解析：(1)
3

32
3

2)
4
3()))

4
3(((])

64
27 2

1
3
2

4
1

33
2

4
1

====
−−−

[(  

   (2) 2432
2
1

2
3)25.0()

16
1()

27
8( 5.24

1
3
1

=××=⋅⋅ −−
 

15、若 , ，則 ______。 732 =+ yx 1632 11 =+ +− yx =+ −+ 11 32 yx

答案：
3

17  

解析：令 ,   ∴ , xA 2= yB 3= 7=+ BA 163
2

=+ BA  

   得B ,   故5= 2=A =+ −+ 11 32 yx =+
3

2 BA
3

17  

16、設 22
1

2
1

=−
−
xx ，則 ______ , =+ −1xx =+

−
2
1

2
1

xx ______。 
答案： 22 ,6  

解析： 22
1

2
1

=−
−
xx   ∴ 412 =+−

x
x   ∴  61 =+ −xx

   812 =++
x

x   ∴ 222
1

2
1

=+
−
xx   ( 22− 不合) 

 
㆓. 計算與證明題 (每題 10 分) 
 1、設 ，則 ？，又 ？ 455 =+ −xx =+ − xx 22 55 =− −xx 55
答案： ,   ∴ 14 455 =+ −xx 16525 22 =++ − xx =+ − xx 22 55
     ∴12525 22 =+− − xx 3255 ±=− −xx  

 2、設
y yx 3216 += 且 ，求 x, y之值。 xyxy 273 62 =+

答案： y
y

x

34

22
+

= 且   ∴xyxy 362 33 =+ 134
+=
yx

且 362
=

+
xy
xy   ∴ 2=x  ,  3=y

 3、設 ，則(1) ？(2) ？(3)942 =x =x4 =+12 x =
+
−

−

−

xx

xx

22
22

3 ？ 

答案：(1)   ∴ (-3 不合) 942 =x 34 =x

   (2) 32 =x ( 3− 不合)  ∴ 322 1 =+x  

   (3) =
+
−

−

−

xx

xx

22
22

3 5
1

10
2

12
12

4

2

==
+
−

x

x
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